AS/JP2000 2006 Test 3-Part 1 Name: S#:

Write answers in your answer sheets. You can make notes on the test.

I. Choose the most appropriate alphabet to fill in the blank in each sentence.
(1) W B IXmA nH LIvEE A,
(A) 5o T (B) 5% (C) 5% ¢& (D) 50
@ bxro&HMEmAH____ LI AHATT,

(A) U= (B) IEULHT  (C) IEL®HHD (D) IELHED

R TAAI Y —L% RN BAEELE,
(A) T (B) &% (C) &~z (D) &~

@ 77An I <H=EEHI,
(A) BbD & (B) kbt  (C) Bbolek (D) Bb-oTiE

G)AEOHEIX, PEIC_ Tl
(A) Fo7=2& B) fiHZ L C) v X (D) fF->72% 5

(6) A H I WNTT L,
(A) <72\ T%H  (B) << TH (C) Z4<TH (D) &< TUE

(7) LR T LER iz, 9 C&ELTCLEVEL X I,
(A) oo (B) AT\ (C) RTwam» (D) A5
(8) FALZ T,

(A) 1.~ gEbh T  (B) 178 €T (C) 17<&¥T D) 17/ ET

) AR & EAHEB L S AL LR LATOET,
(A) LAnT (B) LANT (C) LhLAT (D) LiabNT

(10) A HEFKRILKRED WD T,
(A) W iFHIE  (B) LFAuE (C) WiFhuE (D) L\ vitiuZ

[1x20=20]



(11) A HIZHEEBERER Y S\ T, BahlLmWwe BunEd,
AL B (©Iic O% E» F® (G T

(12) KIZboahi___ L5 E, KARZOA MRS DL D TT,
A2 BIF ©& DOT B AL G =z

(13) &V & ITET-WATET E, B&R2 T« -,
A B» ()T (OE EH (F~ (G)IF

(14) L3 BT 2 EFHDETRVZWATT,
A% (B T @©1ic MO» (E & FH O G

(15) X TITA % HIC DT A TT D,

(A) 5 (B) 7= (C) BXHD (D) TP
(16) LT 7eflkE LD XS EESTET,

(A) T (B) 7gu & (C) UxZauné (D) 725
(17) MThikET 5 HY EI D,

(A) Z &% (B) ®Z &N (C) LN (D) Z &N
(18) 1Exxz# =F W o

(A) NE7p b (B) 7372 T b

(C) PN T2 NIT e 572< TiX (D) 22T 60

(19) 4 . brokZEoEAlC )
A 2z, WDNTT L,
(A) LTIZW T EHAD, B) LTHLEALWTL LI

C) DoTWEEFEEAL, (D) Do>TLEEDFNATTA,

(20) F4 : AE—F OEIXZ AU LE LAY, .
e DDA U720 TT Dy,
(A) [Fo>Z 5 TTh, (B) AINE NN ERBHDLTLE I

C) EoL7bWVWWWTLEID, (D) E9TL X ID



I1. Choose the most appropriate alphabet for the word to fill in each blank. [1x10=10]

(1) RFAEF, ZTWTWUEAIZRD E, BFE_ 1 OZE% 2 PABZIILD
£

1. (A) LyBAZS B) VErZH (C) *AX1r) (D) LwILr< (E) LALW?

2. (A) ZARIZ  (B) LATAIC (C) 95F< (D) #adedr () L2AT

5

Q) HABRAAED 3 13 SHAESCKSEAE 2 COFEANLRY . 4 b

IINT, BELESSAD_ 5 HHVET,

p=itl

[y

3. (A) 7770f%F B) WA A (C) LAZE D) WE (E) 7 RU 7 A ¥—
4., (A) -5  (B) IFohn C) WiFiEZe (D) Lxo2&wH (E) Lxo>VA

5. (A) HiE&  (B) BAGEFEK (C) bAL (D) EoF  (E) W&

(3) thHeH__6 ZRHEVNHOTHWNWNTT D, 7 IZHR->TETHRIV,

6. (A) LLE (B) LI (C) LISt (D) LI (E) LIk

7. (A) LLE (B) LLF (C) LIStk (D) LI (E) LAHT

(4) FET N— MTfETe LD | 8 DIFHRNNR, 9 LBl \BHAEAKR

FBAEMEST 10 L7eh, HARED I ESRDHIALLRVWNLD,
8. (A) T4y — (B) TANA k (C) K% (D) A—bAF— (E) LrZxw?
9. (A) Lro2i<4 (B) ®bA  (C) HifH (D) v X O (E) LxH0A

10. (A) 4% (B) k& C) FWiFA (D) SAHEW  (E) OH<



I11. Write Kanji (and Hiragana if necessary) for the underlined words and provide its English
translation in the designated box in your answer sheet. [1.5x10=15]

(1) N\EED  DWRICTHTDIT, ST 308X LT,

2 mI—Fv =2V -z, LonA LT,

() LEAZD LFF] EWVIOIREFALEIEND D £T 0
(4) SWMOBHIETIHFTFANERIZHD IFTAD TT,

B) EARZEIZZEEIHDHY ET ),

(6) 112> ; 72D LW s VA% B2 Td 4,

(M) 1FELF,DIZEBES EBNVBHATT L,

(8) ITIFT W IALEIRRETR-TLEST,

-End of Part I-

When you finish Part I, receive Part Il in exchange of Part I (Keep your answer sheet).

Once you have turned in Part I, you will not have a chance to review Part | later.



AS/JIP2000 2006 Test 3-Part Il  Name: S#:

IV. Read the following passage A and the dialogue B and answer the questions.
VR IR0
A: THER~D B %)
RA R REZTIE, AARIZS 5 A0ME R - 5UERRE: - IHA RS E & Dk D 7 n 75
AMBHY FET, BARGEEZMML TWAHFAEIE, BAREO HFOa—2A2REWNEE TP

LRIBBHIUL, ZD I HLO—DDRFIT m*?é ENTEET, bHAA, LiTak
DAEDE DT RTIUTR D EEAD, HFED 90%LL L2 7EWTWRIEIZSH D 8 A,
RARNRFEDPBIE, CowEEIOBDROAL L INLAEEENH D L, BARTEE LI
DN DME, RARVRFOBRMNE L THEDENDZLIZRS>TNHDT, ETHREW
T s T ATYT, SEOK, KREWFEAIZRDY 2T 4 — S AL, EOFEZBWTHARIZ

S

LIERARS

B LI R0 E LT, Th, BAZ D OMHHFEADI—Z TR R b v KETHRE 2 T U7
520D T, HbrolMWHNE LW ERWELE, 4, YaTa—SAt o L xICH
RFED LD T =R E WS> TNLFAEDTIIL, SFEDaA—ANBb o7 b HARIZEF L
EIEHESTHDARHEASENND KD T, EFEAAREFZNLIF-> CELFEDFE LM
<&, WD 7T v 77 MIZkGETE->7%5TT, ZNT, YVars 4 —IAb—HFZ£OZF &
IEDIXLTHITETLVERN, TR 7 AP —IZE A LTS Z EICLE L,

Question: Based on the text above, choose the most appropriate answer for each question.

[2x5=10]
(1) RA b RPIZITHTFRZ DN 2B 0 EF0,
(A) —> T,
(B) =T,

(C) =-L kT,
(D) M>T7,



(2) EATEEENE R KD Mmﬁﬁﬁﬂm:%’% TE T

(A) AfRERY: « R - LA KT EOFATT,

(B) HJH M 90%LL ED AT,

(C) BAGEZMIRL TVWDHFAETT,

(D) BAFED “HEDa—2AZBNEWVWEETEDLL R IHANH HFAETT,

Q) Wikt D70 7T ANRRWERAE DX HLAT RS,
(A) LT ARDAESRH D T/ A,
(B) HATEEGLLLHIIZEMARA N RFOHEMIZRY £,
(C) RFDOULWXrHIBRMNROALLIENDLZENHY £T,
(D) &\ ~72% 9 T9,

(4) VaT 4 —ZNE BFETLHOELEI L TEL>TWNZDTT D,
(A) BAGEO Z—ADOFNEEINEL 20NETT,
(B) ARIZEZL LD EHESTWAHAIANEABEND NG T,
(C) —4HZOXxrH2ZDIX LRV E T,
(D) RA M RETMNEELED T—RAZTG R TUIWT WS TT,

B) VaT 4 —ZAlE, TNMBEITHDOTTED,
M)*@%O?i5%@f?0%wfﬁ
B) 7T RU7AYP—=IZEILEZLVDDEZTHLLEY EB->TVET,
@)?Caﬁ@fm77A IBOIFETHoL 0 T,
(D) HANGIR-> TEPAOFEZBZ 9 B> TnE T,

(56 ]
~ AU /L, SHIIb oL TAEFITEAL ITIDMMR 2T TT MR,
BRI D Lz, famipesr T & 2

et . P SEDSEIZANT. AR Z TG E =A% AT

BRIAE  ~A 7 S, SENEEICRDATLEER,

A7 ATV, FOXEIFETHE FELLZLITHDOTTN, FO®REARZILEEZLT-

S5WVNNDN, FIRHRWNEDTT NG



BRI KRNI T E L THRTND,

DI

»
~A 7 AR FZLE I, RERIATZ O, FL-oTWET, TH, BENRZWVND,

i3

TSR M LTLES 2b LLEEA,
BREAEET 707 T ACBIELTHIEL BELDLEED L. DWTWTAILR DD X,
VAT L FNEDPABRZTHHRERATLE, #ARTEIELTAHET, LECTVEAL
LI EBRBPNTEET ),
BIA - pEDLRVDb X,

LobA SEOITFELNTTH, o THETS, ELboi b0, MiEsTueb

X Z2F72 3V, [1x6=6]
) ~A 7SI K, BHCEALRNSL Y,

(7 AT EATEDST L HETHE HEDH D,

B) AT EMTHRAERCEIRNCIET 7a /T AIBIFTHI EENANZ TN,
Q) AT ISNIREECBEETZDRITNIER RN EEbiv,

(10 HEAIFAZ STV EAL LY Z-OENT-,

(A1) = AT SAIEREEC TANEZESITEA] 23T,

V. Compose a sentence in Japanese using each of the following expressions and provide English
translation. Each sentence should contain at least four phrases. For Example, 7z LiZ=%
¥ AT E 72\ has three phrases, but 272 LIZW203% ¥ > FI2fT & 72\ has four
phrases. [3x5=15]

b= Lix ASSY/N S A 1ITE720,

Q) - - 72V H 5T - - [Note: 9% does not mean ‘house’ here.]
2 £< - b

(3) S1 &, S2 [Note: Use & to mean “when...”]



(4) Vi!i}:

(5) - + +-axfL- - [Note: Use the ‘causative passive’ form]

V1. Translate the following sentences into Japanese, by filling out the parentheses. The length
of the parentheses roughly corresponds to the length of the word you are expected to use. For

example, a particle goes into ( ); a shorter word/expression nto ( ); ard alonger
expression/phrase into ( ). [2x12=24]
Example:
He is also good at speaking Japanese. 74Ul ( ) () () EFTT,

BA o i (AAREEZET) () (b) EFTY,

(1) Please tell me how (‘the way’) to read this kaniji.

CoET () ( ) () HxTFEW,

(2) 1'was relieved to know that the luggage has already been sent to my home. [You are talking to
an airline company who lost your luggage]
( ) () BIHIFEIT ( ) CHEWTLLLE LT,

(3) The baby cried on me on the airplane, and | was in trouble.
OZo2& () &rbrei () ( ). TEVFELL,
[use the passive form]

(4) Can you study while listening to the music?

Tz ( ) fhsR ( ) D

(5) Have you ever played all night without sleeping?
—Wediaiznyy () ( ) Z& () B EFH,

(6) There is no prettier person than Angelina.
Tz —FEA ( ) Ehnae AN () ( )o

(7) Itis difficult to make children eat vegetable.
&L () RSnE ( ) () IERETT,



(8) Itis not that I do not like cake, but I am just full right now.
T DE ( ) ( ) () ROWATIN, ABRPB VDTN
AT,

(9) I may rent a 4.5 tatami mat room.
7N ) D EZ ( )o
[write in Hiragana]

(10) The telephone rang when | was about to eat dinner.
e Tk ( ) () LTWpEZA (), EBERIN-TEI,

(11) If my salary becomes double, my life would become more interesting. [Don’tuse 7= &,/ &]
b Liaktay ( ) )« o NMEBBH LA 2D ATTNR,

(12) Did you know that Mr. Honda is my third Japanese teacher?

RKELEAENFLD ( ) () BAREEDOLATENS ( ) o> TWE
L7272

This is the end of Test 3.  Please turn in both Part Il and your answer sheet.



